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RETEST EXAMTNATION - 20re Kf
Semesler : 3rd (Old Syllabus) //*-'/

.D

Subject Code:Co-305 r!'5",\,r\
COMPUTER ARCHIiIECfUREII.. ...

AND ORGANIZATION

Full Marks _ 70

fime - Thrce hours

The figures in the margin indicate full marks
for the questions.

Instructions :

l. ,{// questions of pART-A are compulsory.

2. Answer any /rve questions &om PART-B.

PART _ A

Ma*s - 25

t. Fill in the blanks: l x l0:10

(i) The BCD rcpr€sentation of 123 is

(b) The two's complement of I I I l000l is
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7. (a) What do you mean by DMA ? Vr'rfte its basic
principles.

What is polling ?

Write briefly about mouse.

5

2o)
(c)

8. (a)

o)

9. (a)

o)

Differentiate between RAM and ROM. 3

What do you mean by intem+t ? Explab 8ny
two t,?cs of int€rmpts. 6

Differcntiete between memory mrpped VO
8nd Isolatcd VO. 4

Write brief not€s on 'cache memory' and
'memory hicrarchy'.

10. Write brief notes on printer and hard disk. 9

ll. Draw rhe block diagram of Intel 80E5 micropro-
cessor and oglain briefly abors €ach unit. 9

12. E plsin Booth's algorithm for multiplication of
signed numb€rs. Muttiply-l2 and 6 using Booth's
multiplication algorithm. 5+4+
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